

P_7 -factorization of complete bipartite graphs

JIAN WANG

*Nantong Vocational College
Nantong 226007
P.R. CHINA*

Abstract

In this paper, it is shown that necessary and sufficient conditions for the existence of a P_7 -factorization of the complete bipartite graph $K_{m,n}$ are

- (1) $4n \geq 3m$,
- (2) $4m \geq 3n$,
- (3) $m + n \equiv 0 \pmod{7}$, and
- (4) $7mn/[6(m+n)]$ is an integer.

1 Introduction

Let P_k be the path on k vertices and $K_{m,n}$ be the complete bipartite graph with partite sets V_1 and V_2 , where $|V_1| = m$ and $|V_2| = n$. A subgraph F of $K_{m,n}$ is called a spanning subgraph of $K_{m,n}$ if F contains all the vertices of $K_{m,n}$. A P_k -factor of $K_{m,n}$ is a spanning subgraph F of $K_{m,n}$ such that every component of F is a P_k and every pair of P_k 's have no vertex in common. A P_k -factorization of $K_{m,n}$ is a set of edge-disjoint P_k -factors of $K_{m,n}$ which is a partition of the set of edges of $K_{m,n}$. In paper [6], the P_k -factorization of $K_{m,n}$ is defined as a resolvable $(m, n, k, 1)$ bipartite P_k -design. The graph $K_{m,n}$ is called P_k -factorizable whenever it has a P_k -factorization. For graph theoretical terms, see [4].

When k is an even number, the spectrum problem for a P_k -factorization of $K_{m,n}$ has been completely solved (see [3], [6] and [8]). When k is an odd number, the spectrum problem for a P_k -factorization of $K_{m,n}$ seems to be much less tractable. In the early paper [5], Ushio gave a necessary and sufficient condition for the existence of P_3 -factorization of $K_{m,n}$. Some further work was done by Ushio and Tsuruno in [7] and Du in [1], [2] and the author and B. Du in [9]. In paper [6], Ushio gave the following conjecture (Conjecture 5.3 in [6]).

Conjecture 1.1 Let m and n be positive integers and k be odd. Then $K_{m,n}$ has a P_k -factorization if and only if (1) $(k+1)n \geq (k-1)m$, (2) $(k+1)m \geq (k-1)n$, (3) $m+n \equiv 0 \pmod{k}$, and (4) $kmn/[(k-1)(m+n)]$ is an integer.

Very recently, Du and the author [10] have shown that Ushio Conjecture is true for $k = 5$. In this paper we will show that Ushio Conjecture is true when $k = 7$. That is, we shall prove

Theorem 1.2 *Let m and n be positive integers. Then $K_{m,n}$ has a P_7 -factorization if and only if*

- (1) $4n \geq 3m$,
- (2) $4m \geq 3n$,
- (3) $m + n \equiv 0 \pmod{7}$, and
- (4) $7mn/[6(m+n)]$ is an integer.

2 Main result

Using simple computation, we have the following necessary condition for the existence of a P_7 -factorization of the complete bipartite graph $K_{m,n}$.

Theorem 2.1 *If $K_{m,n}$ has a P_7 -factorization, then (1) $4n \geq 3m$, (2) $4m \geq 3n$, (3) $m + n \equiv 0 \pmod{7}$, and (4) $7mn/[6(m+n)]$ is an integer.*

In the remainder of the paper we prove the sufficiency of Theorem 1.2. For any two integers x and y , we use $\gcd(x, y)$ to denote the greatest common divisor of x and y . The following lemma is obvious.

Lemma 2.2 *Let a, b, p and q be positive integers, if $\gcd(ap, bq) = 1$, then*

$$\gcd(ap + bq, pq) = 1.$$

We first prove the following result, which is used later in this paper.

Theorem 2.3 *If $K_{m,n}$ has a P_7 -factorization, then $K_{sm,sn}$ has a P_7 -factorization for every positive integer s .*

Proof Let $\{F_i : 1 \leq i \leq s\}$ be a 1-factorization of $K_{s,s}$ (which exists by [4]). For each $i \in \{1, 2, \dots, s\}$, replace every edge of F_i by a $K_{m,n}$ to get a factor G_i of $K_{sm,sn}$ such that the graph G_i are pairwise edge-disjoint and their union is $K_{sm,sn}$. Since $K_{m,n}$ has a P_7 -factorization, it is clear that the graph G_i , too, has a P_7 -factorization. Consequently, $K_{sm,sn}$ has a P_7 -factorization. This proves the theorem.

Now we start to prove our main result Theorem 1.2. There are three cases to consider.

Case $4m = 3n$: In this case, from Theorem 2.3, $K_{m,n}$ has a P_7 -factorization, since $K_{3,4}$ has a P_7 -factorization:

$$y_1x_1y_2x_2y_3x_3y_4, \quad y_3x_1y_4x_2y_1x_3y_2.$$

Case $3m = 4n$: Obviously, $K_{m,n}$ has a P_7 -factorization.

Case $4m > 3n$ and $4n > 3m$: In this case, let $a = (4n - 3m)/7$, $b = (4m - 3n)/7$, $t = (m + n)/7$, and $r = 7mn/[6(m + n)]$. Then from Conditions (1)–(4) in Theorem 1.2, a, b, t, r are integers and $0 < a < m$ and $0 < b < n$. We have $3a + 4b = m$ and $4a + 3b = n$. Hence $r = 2(a + b) + ab/[6(a + b)]$. Let $z = ab/[6(a + b)]$, which is a positive integer. And let $\gcd(3a, 4b) = d$, $3a = dp$, $4b = dq$, where $\gcd(p, q) = 1$. Then $z = dpq/[6(4p + 3q)]$. These equalities imply the following equalities:

$$\begin{aligned} d &= \frac{6(4p + 3q)z}{pq}, \\ m &= \frac{6(p + q)(4p + 3q)z}{pq}, \\ n &= \frac{(16p + 9q)(4p + 3q)z}{2pq}, \\ r &= \frac{(p + q)(16p + 9q)z}{pq}, \\ a &= \frac{2p(4p + 3q)z}{pq}, \\ b &= \frac{3q(4p + 3q)z}{2pq}. \end{aligned}$$

Now we can establish the following lemma.

Lemma 2.4

(1) If $\gcd(p, 9) = 1$ and $\gcd(q, 16) = 1$, then

$$\begin{aligned} m &= 12(p + q)(4p + 3q)s, & n &= (16p + 9q)(4p + 3q)s, \\ a &= 4p(4p + 3q)s, & b &= 3q(4p + 3q)s, & r &= 2(p + q)(16p + 9q)s, \end{aligned}$$

for some positive integer s .

(2) If $\gcd(p, 9) = 1$ and $\gcd(q, 16) = 2$, let $q = 2q_1$. Then

$$\begin{aligned} m &= 6(p + 2q_1)(2p + 3q_1)s, & n &= (8p + 9q_1)(2p + 3q_1)s, \\ a &= 2p(2p + 3q_1)s, & b &= 3q_1(2p + 3q_1)s, & r &= (p + 2q_1)(8p + 9q_1)s, \end{aligned}$$

for some positive integer s .

(3) If $\gcd(p, 9) = 1$ and $\gcd(q, 16) = 4$, let $q = 4q_2$. Then

$$\begin{aligned} m &= 6(p + 4q_2)(p + 3q_2)s, & n &= 2(4p + 9q_2)(p + 3q_2)s, \\ a &= 2p(p + 3q_2)s, & b &= 6q_2(p + 3q_2)s, & r &= (p + 4q_2)(4p + 9q_2)s, \end{aligned}$$

for some positive integer s .

(4) If $\gcd(p, 9) = 1$ and $\gcd(q, 16) = 8$, let $q = 8q_3$. Then

$$m = 3(p + 8q_3)(p + 6q_3)s, \quad n = 2(2p + 9q_3)(p + 6q_3)s,$$

$$a = p(p + 6q_3)s, \quad b = 6q_3(p + 6q_3)s, \quad r = (p + 8q_3)(2p + 9q_3)s,$$

for some positive integer s .

(5) If $\gcd(p, 9) = 1$ and $\gcd(q, 16) = 16$, let $q = 16q_4$. Then

$$m = 3(p + 16q_4)(p + 12q_4)s, \quad n = 4(p + 9q_4)(p + 12q_4)s,$$

$$a = p(p + 12q_4)s, \quad b = 12q_4(p + 12q_4)s, \quad r = 2(p + 16q_4)(p + 9q_4)s,$$

for some positive integer s .

(6) If $\gcd(p, 9) = 3$ and $\gcd(q, 16) = 1$, let $p = 3p_1$. Then

$$m = 12(3p_1 + q)(4p_1 + q)s, \quad n = 3(16p_1 + 3q)(4p_1 + q)s,$$

$$a = 12p_1(4p_1 + q)s, \quad b = 3q(4p_1 + q)s, \quad r = 2(3p_1 + q)(16p_1 + 3q)s,$$

for some positive integer s .

(7) If $\gcd(p, 9) = 3$ and $\gcd(q, 16) = 2$, let $p = 3p_1$ and $q = 2q_1$. Then

$$m = 6(3p_1 + 2q_1)(2p_1 + q_1)s, \quad n = 3(8p_1 + 3q_1)(2p_1 + q_1)s,$$

$$a = 6p_1(2p_1 + q_1)s, \quad b = 3q_1(2p_1 + q_1)s, \quad r = (3p_1 + 2q_1)(8p_1 + 3q_1)s,$$

for some positive integer s .

(8) If $\gcd(p, 9) = 3$ and $\gcd(q, 16) = 4$, let $p = 3p_1$ and $q = 4q_2$. Then

$$m = 6(3p_1 + 4q_2)(p_1 + q_2)s, \quad n = 6(4p_1 + 3q_2)(p_1 + q_2)s,$$

$$a = 6p_1(p_1 + q_2)s, \quad b = 6q_2(p_1 + q_2)s, \quad r = (3p_1 + 4q_2)(4p_1 + 3q_2)s,$$

for some positive integer s .

(9) If $\gcd(p, 9) = 3$ and $\gcd(q, 16) = 8$, let $p = 3p_1$ and $q = 8q_3$. Then

$$m = 3(3p_1 + 8q_3)(p_1 + 2q_3)s, \quad n = 6(2p_1 + 3q_3)(p_1 + 2q_3)s,$$

$$a = 3p_1(p_1 + 2q_3)s, \quad b = 6q_3(p_1 + 2q_3)s, \quad r = (3p_1 + 8q_3)(2p_1 + 3q_3)s,$$

for some positive integer s .

(10) If $\gcd(p, 9) = 3$ and $\gcd(q, 16) = 16$, let $p = 3p_1$ and $q = 16q_4$. Then

$$m = 3(3p_1 + 16q_4)(p_1 + 4q_4)s, \quad n = 12(p_1 + 3q_4)(p_1 + 4q_4)s,$$

$$a = 3p_1(p_1 + 4q_4)s, \quad b = 12q_4(p_1 + 4q_4)s, \quad r = 2(3p_1 + 16q_4)(p_1 + 3q_4)s,$$

for some positive integer s .

(11) If $\gcd(p, 9) = 9$ and $\gcd(q, 16) = 1$, let $p = 9p_2$. Then

$$\begin{aligned} m &= 4(9p_2 + q)(12p_2 + q)s, & n &= 3(16p_2 + q)(12p_2 + q)s, \\ a &= 12p_2(12p_2 + q)s, & b &= q(12p_2 + q)s, & r &= 2(9p_2 + q)(16p_2 + q)s, \end{aligned}$$

for some positive integer s .

(12) If $\gcd(p, 9) = 9$ and $\gcd(q, 16) = 2$, let $p = 9p_2$ and $q = 2q_1$. Then

$$\begin{aligned} m &= 2(9p_2 + 2q_1)(6p_2 + q_1)s, & n &= 3(8p_2 + q_1)(6p_2 + q_1)s, \\ a &= 6p_2(6p_2 + q_1)s, & b &= q_1(6p_2 + q_1)s, & r &= (9p_2 + 2q_1)(8p_2 + 3q_1)s, \end{aligned}$$

for some positive integer s .

(13) If $\gcd(p, 9) = 9$ and $\gcd(q, 16) = 4$, let $p = 9p_2$ and $q = 4q_2$. Then

$$\begin{aligned} m &= 2(9p_2 + 4q_2)(3p_2 + q_2)s, & n &= 6(4p_2 + q_2)(3p_2 + q_2)s, \\ a &= 6p_2(3p_2 + q_2)s, & b &= 2q_2(3p_2 + q_2)s, & r &= (9p_2 + 4q_2)(4p_2 + q_2)s, \end{aligned}$$

for some positive integer s .

(14) If $\gcd(p, 9) = 9$ and $\gcd(q, 16) = 8$, let $p = 9p_2$ and $q = 8q_3$. Then

$$\begin{aligned} m &= (9p_2 + 8q_3)(3p_2 + 2q_3)s, & n &= 6(2p_2 + q_3)(3p_2 + 2q_3)s, \\ a &= 3p_2(3p_2 + 2q_3)s, & b &= 2q_3(3p_2 + 2q_3)s, & r &= (9p_2 + 8q_3)(2p_2 + q_3)s, \end{aligned}$$

for some positive integer s .

(15) If $\gcd(p, 9) = 9$ and $\gcd(q, 16) = 16$, let $p = 9p_2$ and $q = 16q_4$. Then

$$\begin{aligned} m &= (9p_2 + 16q_4)(3p_2 + 4q_4)s, & n &= 12(p_2 + q_4)(3p_2 + 4q_4)s, \\ a &= 3p_2(3p_2 + 4q_4)s, & b &= 4q_4(3p_2 + 4q_4)s, & r &= 2(9p_2 + 16q_4)(p_2 + q_4)s, \end{aligned}$$

for some positive integer s .

Proof We assume that $\gcd(p, q) = 1$, $\gcd(p, 9) = 1$ and $\gcd(q, 16) = 1$ hold. Then $\gcd(16p + 9q, 2) = \gcd(4p + 3q, 2) = 1$ and $\gcd(16p, 9q) = \gcd(4p, 3q) = 1$ hold. It is easy to see that $n = (16p + 9q)(4p + 3q)z/(2pq)$. By Lemma 2.2, we see that $\gcd(16p + 9q, pq) = \gcd(4p + 3q, pq) = 1$. Therefore, $z/(2pq)$ must be an integer. Let $s = z/(2pq)$. Then the equalities in (1) hold.

The proof of the equalities in (2)–(4), (6)–(10) and (12)–(15) are similar to (1).

We assume that $\gcd(p, q) = 1$, $\gcd(p, 9) = 1$, $\gcd(q, 16) = 16$ and $q = 16q_4$ hold. Then $\gcd(p + 16q_4, 2) = \gcd(p + 12q_4, 2) = 1$ and $\gcd(p, 16q_4) = \gcd(p, 9q_4) = 1$ hold.

It is easy to see that $r = (p + 16q_4)(p + 9q_4)z/(pq_4)$. By Lemma 2.2, we see that $\gcd(p + 16q_4, pq_4) = \gcd(p + 9q_4, pq_4) = 1$. Therefore, $z/(pq_4)$ must be an integer. Let $z' = z/(pq_4)$. Then we have $m = 3(p + 16q_4)(p + 12q_4)z'/2$ is an integer. We see $z'/2$ must be an integer. Let $s = z'/2$. Then the equalities in (5) hold.

The proof of the equalities in (11) are similar to (5).

This proves the lemma.

For our main result, we need the following direct constructions. We use $\lceil x \rceil$ to denote the least integer not less than x and $\lfloor x \rfloor$ the largest integer not exceeding x .

Lemma 2.5 *For any positive integers p and q , let $m = 6(p + 2q)(2p + 3q)$ and $n = (8p + 9q)(2p + 3q)$. Then $K_{m,n}$ has a P_7 -factorization.*

Proof Let $a = 2p(2p + 3q)$, $b = 3q(2p + 3q)$, $r = (p + 2q)(8p + 9q)$, $r_1 = p + 2q$ and $r_2 = 8p + 9q$. Let X and Y be two partite sets of $K_{m,n}$ and set

$$X = \{x_{i,j} : 1 \leq i \leq r_1, 1 \leq j \leq 6(2p + 3q)\},$$

$$Y = \{y_{i,j} : 1 \leq i \leq r_2, 1 \leq j \leq 2p + 3q\}.$$

We will construct a P_7 -factorization of $K_{m,n}$. We remark in advance that the additions in the first subscripts of $x_{i,j}$'s and $y_{i,j}$'s are taken modulo r_1 and r_2 in $\{1, 2, \dots, r_1\}$ and $\{1, 2, \dots, r_2\}$, respectively, and the additions in the second subscripts of $x_{i,j}$'s and $y_{i,j}$'s are taken modulo $6(2p + 3q)$ and $2p + 3q$ in $\{1, 2, \dots, 6(2p + 3q)\}$ and $\{1, 2, \dots, 2p + 3q\}$, respectively.

For each $1 \leq i \leq p$, let

$$E_i = \{x_{i,j+(2p+3q)(u-1)+3(2p+3q)v}y_{8(i-1)+4v+u,w,j+2i-1+w} : 1 \leq j \leq 2p + 3q, 1 \leq u \leq 3, 0 \leq v \leq 1, 0 \leq w \leq 1\}.$$

For each $1 \leq i \leq q$, let $E_{p+i} =$

$$\{x_{p+2(i-1)+[(u+w)/2],j+(2p+3q)(v-1)+3(2p+3q)[1-([u/2]-\lfloor u/2 \rfloor)](1-w)+3(2p+3q)(\lfloor u/2 \rfloor - \lfloor u/2 \rfloor)w}y_{8p+9(i-1)+3(v-1)+u,2p+j+3(i-1)+u} : 1 \leq j \leq 2p + 3q, 1 \leq u \leq 3, 1 \leq v \leq 3, 0 \leq w \leq 1\}.$$

Let $F = \bigcup_{1 \leq i \leq p+q} E_i$. Then the graph F is a P_7 -factor of $K_{m,n}$. Define a bijection σ from $X \cup Y$ onto $X \cup Y$ in such a way that $\sigma(x_{i,j}) = x_{i+1,j}$ and $\sigma(y_{i,j}) = y_{i+1,j}$. For each $i \in \{1, 2, \dots, r_1\}$ and each $j \in \{1, 2, \dots, r_2\}$, let

$$F_{i,j} = \{\sigma^i(x)\sigma^j(y) : x \in X, y \in Y, xy \in F\}.$$

It is easy to show that the graphs $F_{i,j}$ ($1 \leq i \leq r_1, 1 \leq j \leq r_2$) are P_7 -factors of $K_{m,n}$ and their union is $K_{m,n}$. Thus, $\{F_{i,j} : 1 \leq i \leq r_1, 1 \leq j \leq r_2\}$ is a P_7 -factorization of $K_{m,n}$. This proves the lemma.

The proof of the following lemma is similar to Lemma 2.5, so we only give the representations of X , Y , E_i and E_{p+i} .

Lemma 2.6 *For any positive integers p and q , let $m = 6(p + 4q)(p + 3q)$ and $n = 2(4p + 9q)(p + 3q)$. Then $K_{m,n}$ has a P_7 -factorization.*

Proof Let $a = 2p(p + 3q)$, $b = 6q(p + 3q)$, $r = (p + 4q)(4p + 9q)$, $r_1 = p + 4q$, $r_2 = 4p + 9q$ and

$$X = \{x_{i,j} : 1 \leq i \leq r_1, 1 \leq j \leq 6(p + 3q)\},$$

$$Y = \{y_{i,j} : 1 \leq i \leq r_2, 1 \leq j \leq 2(p + 3q)\}.$$

For each $1 \leq i \leq p$, let

$$E_i = \{x_{i,j+2(p+3q)u}y_{4(i-1)+u+v+1,j+2i-1+v} : 1 \leq j \leq 2(p + 3q), 0 \leq u \leq 2, 0 \leq v \leq 1\}.$$

For each $1 \leq i \leq q$, let

$$E_{p+i} = \{x_{p+4(i-1)+u+w,j+2(p+3q)v}y_{4p+9(i-1)+3v+u,2p+j+6(i-1)+2u+w-1} : 1 \leq j \leq 2(p + 3q), 1 \leq u \leq 3, 0 \leq v \leq 2, 0 \leq w \leq 1\}.$$

Lemma 2.7 *For any positive integers p and q , let $m = 3(p + 8q)(p + 6q)$ and $n = 2(2p + 9q)(p + 6q)$. Then $K_{m,n}$ has a P_7 -factorization.*

Proof Let $a = p(p + 6q)$, $b = 6q(p + 6q)$, $r = (p + 8q)(2p + 9q)$, $r_1 = p + 8q$, $r_2 = 2p + 9q$ and

$$X = \{x_{i,j} : 1 \leq i \leq r_1, 1 \leq j \leq 3(p + 6q)\},$$

$$Y = \{y_{i,j} : 1 \leq i \leq r_2, 1 \leq j \leq 2(p + 6q)\}.$$

For each $1 \leq i \leq p$, let

$$E_i = \{x_{i,j+(p+6q)(u-1)}y_{2(i-1)+[(u+v)/2],j+i+[1-([u/2]-\lfloor u/2 \rfloor)](p+6q)(1-v)+([\lfloor u/2 \rfloor - \lfloor u/2 \rfloor])(p+6q)v} : 1 \leq j \leq p + 6q, 1 \leq u \leq 3, 0 \leq v \leq 1\}.$$

For each $1 \leq i \leq q$, let

$$E_{p+i} = \{x_{p+4u+8(i-1)+w+v,j+(p+6q)(h-1)}y_{2p+9(i-1)+3(h-1)+w,j+(p+6q)u+p+w+3v+6(i-1)} : 1 \leq j \leq p + 6q, 0 \leq u \leq 1, 0 \leq v \leq 1, 1 \leq w \leq 3, 1 \leq h \leq 3\}.$$

Lemma 2.8 *For any positive integers p and q , let $m = 6(3p + 2q)(2p + q)$ and $n = 3(8p + 3q)(2p + q)$. Then $K_{m,n}$ has a P_7 -factorization.*

Proof Let $a = 6p(2p + q)$, $b = 3q(2p + q)$, $r = (3p + 2q)(8p + 3q)$, $r_1 = 3p + 2q$, $r_2 = 8p + 3q$ and

$$X = \{x_{i,j} : 1 \leq i \leq r_1, 1 \leq j \leq 6(2p + q)\},$$

$$Y = \{y_{i,j} : 1 \leq i \leq r_2, 1 \leq j \leq 3(2p + q)\}.$$

For each $1 \leq i \leq p$, let

$$E_i = \{x_{3(i-1)+u,j+3(2p+q)v} y_{8(i-1)+4v+u+w,j+6(i-1)+2u+w-1} : 1 \leq j \leq 3(2p + q), 1 \leq u \leq 3, 0 \leq v \leq 1, 0 \leq w \leq 1\}.$$

For each $1 \leq i \leq q$, let

$$E_{p+i} = \{x_{3p+2(i-1)+[(u+v)/2],j+3(2p+q)[1-([u/2]-[u/2])](1-v)+3(2p+q)([u/2]-[u/2])v} y_{8p+3(i-1)+u,6p+j+u+3(i-1)} : 1 \leq j \leq 3(2p + q), 1 \leq u \leq 3, 0 \leq v \leq 1\}.$$

Lemma 2.9 For any positive integers p and q , let $m = 6(3p + 4q)(p + q)$ and $n = 6(4p + 3q)(p + q)$. Then $K_{m,n}$ has a P_7 -factorization.

Proof Let $a = 6p(p + q)$, $b = 6q(p + q)$, $r = (3p + 4q)(4p + 3q)$, $r_1 = 3p + 4q$, $r_2 = 4p + 3q$ and

$$X = \{x_{i,j} : 1 \leq i \leq r_1, 1 \leq j \leq 6(p + q)\},$$

$$Y = \{y_{i,j} : 1 \leq i \leq r_2, 1 \leq j \leq 6(p + q)\}.$$

For each $1 \leq i \leq p$, let

$$E_i = \{x_{3(i-1)+u,j} y_{4(i-1)+u+v,j+6(i-1)+2(u-1)+v} : 1 \leq j \leq 6(p + q), 1 \leq u \leq 3, 0 \leq v \leq 1\}.$$

For each $1 \leq i \leq q$, let

$$E_{p+i} = \{x_{3p+4(i-1)+u+v,j} y_{4p+3(i-1)+u,6p+j+6(i-1)+2(u-1)+v} : 1 \leq j \leq 6(p + q), 1 \leq u \leq 3, 0 \leq v \leq 1\}.$$

The proof of Theorem 1.2: By applying Theorem 2.3 with Lemmas 2.4 to 2.9, it can be seen that when the parameters m and n satisfy conditions (1)–(4) in Theorem 1.2, the graph $K_{m,n}$ has a P_7 -factorization. This completes the proof of Theorem 1.2.

Acknowledgment

The author wishes to thank the referee for his/her comments on improving the presentation of the paper.

References

- [1] B. Du, P_3 -factorization of complete multipartite graphs, *Applied Math.* — A journal of Chinese Universities, **14B** (1999), 122–124.
- [2] B. Du, \vec{P}_3 -factorization of complete bipartite symmetric digraph, *Australas. J. Combin.* **19** (1999), 275–278.
- [3] B. Du, P_{2k} -factorization of complete bipartite multigraphs, *Australas. J. Combin.* **21** (2000), 197–199.
- [4] F. Harary, *Graph theory*, Addison-Wesley, Massachusetts, 1972.
- [5] K. Ushio, P_3 -factorization of complete bipartite graphs, *Discrete Math.* **72** (1988), 361–366.
- [6] K. Ushio, G -designs and related designs, *Discrete Math.* **116** (1993), 299–311.
- [7] K. Ushio and R. Tsuruno, P_3 -factorization of complete multipartite graphs, *Graphs and Combinatorics* **5** (1989), 385–387.
- [8] H. Wang, P_{2k} -factorization of a complete bipartite graph, *Discrete Math.* **120** (1993), 307–308.
- [9] J. Wang and B. Du, \hat{P}_3 -factorization of complete bipartite multigraphs and symmetric complete bipartite multi-digraphs, *Utilitas Math.* **63** (2003), 213–228.
- [10] J. Wang and B. Du, P_3 -factorization of complete bipartite graphs, preprint.

(Received 29 Dec 2003; revised 19 Feb 2004)